QP Training Course
MA – FR Answers

Chapter 8 Income Taxes
Answer 1
A provision for deferred tax should be made under HKAS12 ‘Income Taxes’ as follows:
	
	Carrying amount ($m)
	Tax base ($m)
	Temporary difference ($m)

	Building
	9 – 1.8 = 7.2
	8 × 75% = 6
	1.2

	Additional temporary differences
	
	
	40

	Total temporary differences
	
	
	41.2

	
	
	
	× 30%

	Deferred tax liabilities
	
	
	12.36

	
	
	
	

	Warranty
	4
	0
	4

	Tax losses
	70
	0
	70

	Total temporary differences
	
	
	74

	
	
	
	× 30%

	Deferred tax assets
	
	
	22.2


The company would recognise a deferred tax asset of at least $41·2 million of the temporary differences of $74 million at the tax rate of 30%.
If the company could prove that suitable taxable profits were available in the future or that tax planning opportunities were available to create suitable taxable profits, then the balance of the deferred tax asset ($32·8 million at tax rate of 30%) could be recognised.
Answer 2

(a)

Current tax computation

Current tax for the year:

HK$43,122,000 x 18%

= HK$7,761,960
Current tax payable at 30 September 2012:

HK$7,761,960 - HK$4,600,000

= HK$3,161,960
(b)

Deferred tax charge for the year:

Temporary difference on plant and equipment:

Carrying amount

= HK$94,334,000 – HK$15,933,000

= HK$78,401,000

Tax base

= HK$(94,334,000 – 4,388,000 – 38,500,000) + (HK$4,388,000 x (1-10%))

= HK$51,446,000 + HK$3,949,200

= HK$55,395,200
Taxable temporary difference

= HK$78,401,000 – 55,395,200

= HK$23,005,800
Alternative method for calculation of temporary difference:

Deprecation allowance of HK$38,500,000

Less: Deprecation charged to P/L of HK$15,933,000

Add: Depreciation charged to P/L attributable to non-deductible item of HK$438,800 (HK$4,388,000 x 10%)

= HK$23,005,800
Deductible temporary difference on government grant:

HK$9,600,000 – HK$1,200,000

= HK$8,400,000
Deductible temporary difference on warranty provision:

HK$4,200,000 – HK$1,248,000

= HK$2,952,000
Net taxable temporary difference:

HK$23,005,800 – HK$8,400,000 – HK$2,952,000

= HK$11,653,800
Deferred tax charge and liabilities recognised

= HK$11,653,800 x 20%

= HK$2,330,760
(c)

Tax reconciliation for the year ended 30 September 2012:
[image: image1.emf]
Answer 3
(a)
Temporary differences at 30 September 2013 = Carrying amount less tax base

Where tax base of asset = Carrying amount – taxable amount + deductible amount

Patent:

Carrying amount = HKD4.5 million x 1/5 = HKD0.9 million

Tax base = HKD(0.9 – 0.9 + 0) = 0

Temporary difference is HKD0.9 million.

Deferred tax at 30 September 2013:

Patent being a non-tax deductible expenditure and the initial recognition is not part of a business combination and does not affect either accounting profit or taxable profit, therefore no deferred tax liability should be recognised.
Software licence:

Carrying amount = HKD2.4 million x 1/5 = HKD0.48 million

Tax base = HKD(0.48 – 0.48 + 0) = 0

Temporary difference is HKD0.48 million.

Deferred tax at 30 September 2013:

Deferred tax liability: HKD0.48 million x 30% = HKD144,000
(b)

Directors have statutory duties laid down in the Companies Ordinance, common law duties of reasonable care and skill, fiduciary duties in equity, and must act honestly and in good faith for the benefit of the company.
Directors must act for a proper purpose.
Directors are responsible for the preparation of financial statements in accordance with the financial reporting framework required by the law or jurisdiction, and for such internal control as the directors determine is necessary to enable the preparation of financial statements that are free from material misstatement, whether due to fraud or error.
It is improper to state all the cost of acquisition of the patent as a software licence in the financial statements in order to mislead the tax authority for the calculation of the tax deductible expenditure.
The creation of fictitious agreements or invoices for recording assets is improper/ a fraud.
To make any false statement in connection with a claim for any deduction for tax purposes, or to prepare or maintain or authorise the preparation or maintenance of any false books of account or other records, or/and make use of any fraud for tax purposes may constitute an offence under the relevant tax law.
Answer 4 - Kesare
(a)

· HKAS 12 income taxes is based on the idea that all changes in assets and liabilities have unavoidable tax consequences.

· Where the recognition criteria in HKFRS are different from those in tax law, the carrying amount of an asset or liability in the financial statements is different from its tax base. These differences are known as temporary differences.

· The practical effect of these differences is that a transaction or event occurs in a different accounting period from its tax consequences. For example, depreciation is recognized in the financial statements in different accounting periods from capital allowances

· HKAS 12 requires a company to make full provision for the tax effects of temporary differences. Both deferred tax assets, and deferred tax liabilities.

· It may be argued that deferred tax asset and liabilities do not meet the definition of assets and liabilities in the HKICPA Conceptual Framework. Under the Conceptual Framework an asset is the right to receive economic benefits as a result of past events, and a liability is an obligation to transfer economic benefits, again as a result of past events.

· Conceptually there is a weakness in this approach as only one of the liabilities that is tax, is being provided for and not other costs which will be incurred, such as overhead costs. The principal issue in accounting for deferred tax is how to account for the future tax consequences of the future recovery or settlement of the carrying amounts of the assets and liabilities.
(b)

	
	
	Adjustments to financial statements
	Adjusted financial statements
	Tax base
	Temporary difference

	
	$000
	$000
	$000
	$000
	$000

	Property, plant and equipment
	10,000
	
	10,000
	2,400
	7,600

	Goodwill
	6,000
	
	6,000
	6,000
	-

	Other intangible assets
	5,000
	
	5,000
	0
	5,000

	Financial assets (cost)
	9,000
	1,500
	10,500
	9,000
	1,500

	Total non-current assets
	30,000
	
	31,500
	
	

	
	
	
	
	
	

	Trade receivables
	7,000
	
	7,000
	7,500
	(500)

	Other receivables
	4,600
	
	4,600
	5,000
	(400)

	Cash and cash equivalents
	6,700
	
	6,700
	6,700
	-

	Total current assets
	18,300
	
	18,300
	
	

	
	
	
	
	
	

	Total assets
	48,300
	
	49,800
	
	

	
	
	
	
	
	

	Share capital
	(9,000)
	
	(9,000)
	
	

	Other reserves
	(4,500)
	(1,500)
	(6,400)
	
	

	
	
	(400)
	
	
	

	Retained earnings
	(9,130)
	520
	(8,610)
	
	

	Total equity
	(22,630)
	
	(24,010)
	
	

	
	
	
	
	
	

	Long-term borrowings
	(10,000)
	400
	(9,600)
	(10,000)
	400

	Deferred tax liability
	(3,600)
	
	(3,600)
	(3,600)
	-

	Employee benefits
	(4,000)
	(520)
	(4,520)
	(5,000)
	480

	Current tax liability
	(3,070)
	
	(3,070)
	(3,070)
	-

	Trade and other payables
	(5,000)
	
	(5,000)
	(4,000)
	(1,000)

	Total liabilities
	(25,670)
	
	(25,790)
	
	13,080

	
	
	
	
	
	

	Total equity and liabilities
	48,300
	
	49,800
	
	

	
	
	
	
	
	

	Deferred tax liability
	
	
	
	
	

	Liability b/f
	
	
	
	
	3,600

	Charge (bal. fig.)
	
	
	
	
	324

	Deferred tax liability c/f
	14,980 × 30%
	
	4,494
	

	Deferred tax asset c/f
	1,900 × 30%
	
	(570)
	

	Net deferred tax liability
	13,080 × 30%
	
	
	3,924


(i)
The investment in equity instruments are shown at cost. However, per HKFRS 9, they should be instead be valued at fair value, with the increase ($10,500 – $9,000 = $1,500) going to other comprehensive income (items that will not be reclassified to profit or loss) as per the irrecoverable election.
(ii)
HKAS 32 states that convertible bonds must be split into debt and equity components. This involves reducing debt and increasing equity by $400.
(iii)
The defined benefit plan needs to be adjusted to reflect the change. The liability must be increased by $520,000. The same amount is charged to retained earnings.
(iv)
As the development costs have been allowed for tax already, it will have a tax base of zero. Goodwill is measured as a residual and, therefore, the impact is not measured under HKAS 12.

(v)
The accrual for compensation will not be allowed until a later period and, therefore, will reduce the tax base relating to trade and other payables (reduced by $1m).
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